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(32A) (194) (11A) 2A)
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MEETE
1A—60A 61A—200A 201 A—500A 501A—
B5:60.0% B5:0.0% B5:57.1% B5:36.8%
(9A) (0A) (4A) (210)
04:26.7% 04:75.0% 04:42.9% 04:42.1%
aN) (BA) (BA) (240)
03:13.3% 03:00% 03:00% 03:8.8%
@A) (OA) (OA) (5A)
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(0A) (1A) (OA) (2A)
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(OA) (OA) (OA) BA)
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B4:47.1% 04:41.7% 04:49.7% @4:100.0%
(16A) (150) (720) (aA)
o3:2.9% 03:22.2% 03:221% @3:0.0%
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< FigfE=435 > < FifE=3.97 > < FfE=3.78 > < EigfE=a >
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[1:1.0% @1:2.0% @1:2.2% @L17%
(17A) (130) (100) (1A)
[@0:0.1% [@0:0.8% @0:0.4% @0:0.0%
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02:0.0% 02:13.5% 02:4.8% 02:0.0%
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